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QUESTION 1

You want to group volumes together on a VSP storage system using LUSE. What is the maximum number of volumes
that would be grouped together? 

A. 16 

B. 32 

C. 36 

D. 60 

Correct Answer: C 

 

QUESTION 2

A storage administrator needs to allocate storage to a host using Hitachi Device Manager. In the GUI, which two
locations would they navigate to when allocating the storage? (Choose two.) 

A. Parity Groups view 

B. Admin Groups view 

C. Logical Groups view 

D. Mobility Groups view 

Correct Answer: AC 

 

QUESTION 3

A manufacturing company wants to centrally manage all their multi-pathing software using Hitachi Global Link Manager
(HGLM). Which two types of multi-pathing software are supported? (Choose two.) 

A. HDLM 

B. HP-UX Multipathing 

C. PowerPath 

D. SDD 

Correct Answer: AB 

 

QUESTION 4

You want to backup the HiRDB database of your newly installed Hitachi Command Suite (HCS) server. Which two
methods are available to you? (Choose two.) 
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A. Use the hcmdsbackups command specifying a directory for the backup data. 

B. Open the Utility tab in the HCS GUI and select the Backup Database function. 

C. Run the HiRDB backup wizard and select the backup format and destination. 

D. Use hcmdsdbtrans /export command to export the database in CSV format. 

Correct Answer: AD 

 

QUESTION 5

You use Hitachi Device Manager (HDvM) to manage your VSP and HUS storage systems. Within the HDvM GUI, in
which two locations would you perform storage allocation tasks? (Choose two.) 

A. Resources 

B. Administration 

C. Logical Groups 

D. Tasks 

Correct Answer: AC 

 

QUESTION 6

Which Hitachi Command Suite product would be installed on a server different from the one where the Hitachi Device
Manager software resides? 

A. Tiered Storage Manager 

B. Tuning Manager 

C. Partition Manager 

D. Replication Manager 

Correct Answer: B 

 

QUESTION 7

Which three GUI options in the Hitachi Command Suite would be used to optimize data placement within an HDT
implementation? (Choose three.) 

A. Edit Dedupe Policy 

B. Edit Tiering Policy 

C. Migrate Data 
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D. Archive Data 

E. Expand DP Volume 

Correct Answer: BCE 

 

QUESTION 8

A user reports that a host is unable to see the LUNs added with Hitachi Device Manager (HDvM). When
troubleshooting, which two actions should you perform? (Choose two.) 

A. Restart the HDvM services. 

B. Verify the paths between the host and the storage system. 

C. Verify the Alerts in HDvM. 

D. Set "server.base.initialsynchro=true" in the HDvM server.properties file. 

Correct Answer: BC 

 

QUESTION 9

A Hitachi Dynamic Provisioning pool has exceeded a threshold and the administrator wants to reduce the pool usage
below the threshold setting. How would this be achieved? 

A. Expand pool volumes. 

B. Set Host Mode option 40. 

C. Use Zero Page Reclaim. 

D. Shrink some DP Vols. 

Correct Answer: C 

 

QUESTION 10

Using Hitachi Device Manager, and after launching the Element Manager, you want to specify a logical device (LDEV)
as a Command Device on a VSP storage system. Which two conditions must the LDEV satisfy? (Choose two.) 

A. The LDEV must be at least 128 MB in size. 

B. The logical device must not be reserved for ShadowImage in-system replication. 

C. The emulation type must be OPEN-V. 

D. The logical device must not be on a RAID1 parity group. 

Correct Answer: BC 
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QUESTION 11

You want to use Hitachi Device Manager (HDvM) to manage your existing Hitachi Dynamic Provisioning (HDP)
environment. Which three HDvM CLI commands can be used? (Choose three.) 

A. AddPool 

B. GrowPool 

C. ModifyPool 

D. MapLun 

E. AddLun 

Correct Answer: ACE 

 

QUESTION 12

Which three storage operations are performed with Hitachi Device Manager? (Choose three.) 

A. allocate volumes 

B. unallocate volumes 

C. compress volumes 

D. dedupe volumes 

E. create volume 

Correct Answer: ABE 

 

QUESTION 13

When configuring external storage on a VSP storage system, what happens when the Inflow Control option is set to
Enable? 

A. Writes will be rejected when the external volume cannot be accessed. 

B. Writes will be rejected when the cache usage is above threshold 1. 

C. Writes will be accepted when the external volume cannot be accessed. 

D. Writes will be rejected when the cache usage is above threshold 2. 

Correct Answer: A 

 

QUESTION 14
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A storage manager needs to add a new server to the Hitachi Device Manager (HDvM) database. As an alternative to
running a host scan, which two actions are available to discover and identify the new server? (Choose two.) 

A. Use the Host Data Collector. 

B. Install HDvM Agent on the host. 

C. Execute the AddNewHost CLI command. 

D. Run the Import Hosts utility. 

Correct Answer: AB 

 

QUESTION 15

A user reports that a host running Hitachi Dynamic Link Manager (HDLM) has lost a number of paths to the LUNs it is
using. The host still has access to all the LUNs. When troubleshooting, what should you do? 

A. Set all paths offline and then online again. 

B. Check the output of the "dlnkmgr view" command in HDLM. 

C. Reboot the host. 

D. Execute the "dlnkmgr online" command in HDLM. 

Correct Answer: B 
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